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Question 1- Pipe A and B can fill a tank 1n 12 hours and 16

@)g/’ (}IT‘J;[/ hours. In how much time they will together fill the tank.
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Question 2- If pipe A can fill a tank 4 times more faster than

@ Q B pipe B and both the pipes together can fill the tank in 3 hours
L/ / 48 minutes, then how many hours will be taken by pipe B

alone to fill the tank?
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Question 3- Pipe P and Q are inlet pipes and pipe R 1s an

A.4 hour
B.5 ho ur/ outlet. Pipe P and Q can fill the tank in 6 hours and 7.5 hours

C 6Ihe respectively and pipe R can empty the tank in 2 hours. If pipes

D.7 hour @d R toge%pened simultaneously, in how many

hours the tank 1s filled/emptied completely?
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Question 4- Pipe P alone and pipe Q alone can fill a tank 1n 12
mins and 18 mins respectively. Pipe éF and gtogether started
to fill the tank and after 6 minutes pipe Q was closed. What 1s
the time taken by pipe P to fill the remaining tank?
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A.2 hr 40 min
B. 3 hr 30 min
C.4 hr 40 min
D.4 hr 36 min

E. None efthese
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Question 5- The cistern has inlet pipes A and B and an outlet

pipe C. Pipes A, B can fill the cistern alone 1n 15 hours and 18

hours respectively and Pipe C can empty the cistern in 27
5
hours. In the first & hours) A and B are opened together and

then for the next 4 hours, pipe B and C are opened together.

How many hours B alone can fill the remaining tank?
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A_40/7 hr Question 6- An inlet pipe can fill a tank in 36 minutes and an outlet
B. 60/7 hr pipe can,he same tank 1n 48 minutes. If both pipes are
C.30/7 hr opened together, then find the time required to fill the 5/12th of the
D.32/7 hr tank.
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A.3 hr

B. 4 hr 40 min
C.3 hr 40 min -~
D.5 hr

E. None of these
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Question 7- Pipe P and Q fill a tank 1n 15 hours and 12 hours
respectively. Pipe C can empty it in 4 hours. If the pipes are
opened at 7 AM, 8 AM and 10 AM respectively. Then in how
much time tank conﬁpletely empty.
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Question 8- A hole in the bottom 1n a tank empty 1t in 12

- Y
A.1000 Liter 30 hours. If a pipe which adngit 20 liter watgd per minutes also
B. 2000 Liter '
20 hours) Find

opened. If both are working then tank empty 1
C. 3000 Liter

the capacity of tank.
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Question 9- Pipe A can fill a tank 1n 2 hour, with the leakage
pipe Q it takes 7/3 hours to fill the tank.In how much time Q

alone empty a tank.
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A.2 hr 8m1n

B.7 hr 48 min
C.3 hr
D.5 hr

E. None of these
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G
D
P—Lb \5 }6@ Question 10 — Pipe P and Q fill a tank in 10 hr and 15 hr

respectively. Pipe C can empty it in 20 hours. Initially P and Q
are opened and thought that tank is filled but it was found that C
was opened by mistake. Now C is closed then find time taken to
fill the tank.
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Question 11- Three taps A, B and C can fill a tank
in 12,15 and 20 hours respectively. If A is open all the time and
é O B and C are open for one hour each alternately, the tank will be

full in.
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Question 12- Pipe A and B fill a tank in 8 hours and 12 hours
@ respectively. If they are opened at 7 am and 9 am respectively
Tim (-3, Q¢7  then at what time tank completely full?
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A.12 hour
B. 14 hour
C.18 hour_
D. 20 hour

E. None of these
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Question 13- Pipe A and B fill a tank in 16 hours and 24 hours
respectively. They start filling tank together but after some time
it was observed that both pipes are working half and one fourth
of there efficiency due to some blockage. Now blockage

removed . Che tank now ﬁlmnd the total time

taken to fill the complete tank.
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A.4 min 48 sec
B. 3 min 48 sec
C. 10 min 48 sec
D. 14 mint 48 sec
E. None of these
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Question 14- Pipe A and B fill a tank in 36 minutes and 48
minutes respectively. When one fourth tank was full then there
1s an outlet pipe 1s added. This outlet pipe empties the tank with
one third efficiency. Find the time taken to fill the tank.
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